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2.3 #14

L

Solve the equation. (Enter your answers as a comma-separated list. Use n as an
integer constant. Enter your response in radians.)

(tan(f»&tan()ﬁ— 1) =0

Find all solutions between 0 and 2Pi, inclusive.

dom (D= 0 or te0)-1=0
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See next page...



251001.notebook October 01, 2025

Lo (x\—\ =D

_l:a,.(*): ! S
7|

Find ALL solutions!
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2.3 #16

LA B I fadat
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Solve the equation. (Enter your answers as a comma-separated list. Use n as an
integer constant. Enter your response in radians.)

(2sinfx—-1)(3tan’x—-1)=0 —_—

Degigvy —1= O of. 2402 (N—-) = O
2 st X% = 3t = |\
s.‘ln"'\(}'l—;, \ 2 ()= "3_
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See next page for alternate approaches when the Pi radians aren't jumping out at you.
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If you're not great with radians, yet, solve in degrees and then convert to radians.

(45,0.70711)

(135,0.70711)

50 100 150 \K 250 300
=

(225, —0.70711) (315, —0.70711)
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Use sin”’ 1447
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x> NGT, 1387

= AT T 2T

= .qu SN,

aas® , 35

All have the same reference angle.

|
S\N =virtue? (3 students immediately leave class.
Didn't like the weak joke?)
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